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Book key 
1	 a	 arrested

b	 rowed 
c	 chest 
d	 port 
e	 sword 
f	 governor 
g	 mast 
h	 treasure 
i	 Pirates 
j	 chain 

2	 Open answers 
3	 Captain Jack Sparrow, Will Turner, Elizabeth Swann, 

Commodore Norrington / open answers 
4	 a	 Jack Sparrow 

b	 Gibbs 
c	 Leech 
d	 Port Royal 
e	 Will Turner 
f	 Governor Swann / Bootstrap Bill Turner
h	 Davy Jones 
i	 Lord Beckett 
j	 Tortuga 

5	 a	 Jack escapes from a prison. 
b	 He goes to his ship, the Black Pearl. 
c	 The monkey is cursed and cannot die. 
d	 Jack Sparrow is searching for a key. 
e	 Will is late for his wedding because soldiers 

arrested him. 
f	 Beckett arrests Elizabeth and Will because they 

helped Jack Sparrow, a pirate. 
g	 The black mark on Jack’s hand will help Davy Jones 

to find him. 
h	 The Kraken works for Davy Jones. 
i	 Their boat breaks into pieces and they are pulled 

down into the ocean. 
6–7  Open answers 
8	 a	 ✓  b  ✗  c  ✓  d  ✓  e  ✗  f  ✗  g  ✓  h  ✓  i  ✓  j  ✗ 

9	 a	� Will Turner is speaking to Jack Sparrow about the  
Pelegostos. 

b	 Will Turner is speaking to Jack Sparrow about  
Elizabeth. 

c	 Pintel is speaking to Ragetti about the Black Pearl. 
d	 Jack Sparrow is speaking to Will Turner about  

Elizabeth. 
e	 Gibbs is speaking to Will Turner about the Kraken. 
f	 Jack Sparrow is speaking to Tia Dalma about the  

monkey. 

g	 Tia Dalma is speaking to Jack, Will and the pirates 
about Davy Jones. 

h	 Tia Dalma is speaking to Jack Sparrow about the 
bottle of earth. 

i	 Will Turner is speaking to Tia Dalma about saving 
Elizabeth. 

10–11  Open answers 
12	 a	 Will 

b	 on his back 
c	 the Flying Dutchman 
d	 thirteen 
e	 one hundred 
f	 Tortuga 
g	 Gibbs 
h	 Elizabeth 
i	 the Compass 
j	 a heart 

13	 a	� Will goes to the old ship to find the key to the chest. 
b	 The old ship won’t move because the water is too 

shallow. 
c	 The Flying Dutchman comes up from the bottom of 

the ocean. 
d	 Will stops fighting when someone hits him. 
e	 Jones wants one hundred souls for Jack Sparrow’s 

soul. 
f	 Jack and Gibbs go to Tortuga to find ninety-nine 

souls. 
g	 Gibbs is surprised that Norrington is now a rough 

pirate. 
h	 The Flying Dutchman takes dead men from this 

world to the next. 
14–15  Open answers 
16	 a	 the piano 

b	 father 
c	 hundred 
d	 sad 
e	 key 
f	 Elizabeth 
g	 marry 
h	 ten 
i	 a chest 
j	 chest 

17	 a	 …. . Will is his son.
b	 …. . free his father. 
c	 …. . get the key to the chest. 
d	 …. . they see the Kraken. 
e	 …. . Isla Cruces is far across the ocean. 
f	 …. . brought illness and death. 
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18	 Open answers 
19	 a	 Pintel and Ragetti 

b–c  Open answers 
20	 Open answers 
21	 a	 6  b  2  c  3  d  8  e  4  f  5  g  1  h  7 
22–34  Open answers 

Discussion activities key 
1	 Students should point out that the man on the left 

is a pirate. If they have seen the movie version of 
Pirates of the Caribbean: Dead Man’s Chest, they will 
likely know that the man on the left is Captain Jack 
Sparrow, the man in the middle is Will Turner and 
the woman is Elizabeth Swann. They should also point 
out that there are three ships in the picture, as well as 
several pirates and a sea monster. 

2–23  Open answers 

Activity worksheets key 
1	 a	 smartest 

b	 key 
c	 marry 
d	 death 
e	 compass 
f	 side 
g	 drug 
h	 Jack 
i	 beach 
j	 ship 

2	 a	 Leetch 
b	 Governor Swann 
c	 Bootstrap (Bill Turner) 
d	 Scarlett 
e	 Lord Beckett 
f	 Will 
g	 Jack 
h	 the (Pelegostos) islanders 
i	 Jack 
j	 a small boy 

3	 a	 8  b  3  c  6  d  7  e  1  f  4  g  5  h  2 
4	 a	 ✗  b  ✓  c  ✗  d  ✗  e  ✓  f  ✗  g  ✓  h  ✗

5	 Open answers 
6	 a	 Davy Jones 

b	 Bootstrap (Bill Turner) 
c	 Will 
d	 Will 
e	 Davy Jones 
f	 Elizabeth 
g	 Jack 

h	 Pintel and Ragetti 
i	 Pintel and Ragetti 
j	 Elizabeth 

7	 a	 tears
b	 son 
c	 punish 
d	 letters 
e	 years 
f	 neck 
g	 sails 
h	 captain 
i	 kills 
j	 draws 
k	 key 
l	 move 

8	 a	� Jack, Will and Norrington move across the ocean > 
island as they fight. 

b	 Davy Jones’s men see Will step onto the roof of 
the school > church. 

c	 Norrington likes > hates Jack, but he doesn’t like 
Will either. 

d	 Elizabeth reaches for her knife > sword, but it isn’t 
in her belt. 

e	 Jack runs quickly, gets close to the church > wheel 
and jumps inside it. 

f	 Jack asks Gibbs if his heart is moving slowly > 
quickly in his chest. 

g	 Jack’s face turns dark > pale when he discovers 
that he doesn’t have Jones’s heart or Tia Dalma’s 
earth.

h	 Jack’s eyes show sadness at the thought of the  
rescue > end of his ship. 

9	 a	 up 
b	 the point of his sword 
c	 is on his side 
d	 on top of 
e	 an hour 
f	 isn’t 

10–11  Open answers 

Progress test key 
1	 a  5  b  6  c  1  d  2  e  3  f  4
2	 a	 Yes

b	 Yes 
c	 No 
d	 No 
e	 Yes 
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5	 a	 Norrington 
b	 Jack 
c	 Elizabeth 
d	 Gibbs 
e	 Will 

6	 a	 Norrington 
b	 Gibbs 
c	 Elizabeth 
d	 Will 
e	 Bootstrap Bill 

3	 a	� Jack hates > likes Will’s plan because it is simple 
and easy to remember.

b	 Jack hears > sees the Flying Dutchman and Will sail 
away into a storm. 

c	 Jack takes > gives Elizabeth the Compass and tells 
her that it works again. 

d	 Elizabeth asks > tells Jack that she wants to save 
Will. 

e	 Jack points toward the ocean and says that they 
must come > go that way.  

4	 a	 2  b  3  c  5  d  7  e  8  f  4  g  1  h  6 


